
Friday 8th January 2020 

LO: To answer a variety of inference questions.  

 

Arthur spotted something…it was a trap! The most 

terrifying of creatures appeared. Arthur looked on 

feeling impossibly small and helpless… and then he 

saw the beast right behind him! In fear Arthur ran 

as fast as he could into the forest to hide behind a 

rock. 

1. Why did Arthur feel so small?  

2. Why did Arthur run as fast as he could?  

Fenrir’s powerful nose quickly sniffed Arthur out and a  

gigantic paw began to creep closer and closer. In that  

moment Arthur was struck with an idea. He jumped up 

ready to bash the wolf on its nose – but Fenrir was too  

quick. With a loud CRUNCH he bit Arthur’s hand 

straight off… 
 

3. How did Fenrir feel when he bit Arthurs hand here? 

Why?  

4. How did Arthur feel? Why?   

… and then Arthur pulled out his real hand. Fenrir had 

been tricked! The huge beast had bitten the Hand of Time 

and swallowed it whole. His whole body froze in an instant  

except for his eyes, which blinked in confusion. 

 

5. Why was Fenrir confused?  
 

 
 
 

 

 

 

 

 

 

After defeating the other beasts, Thor was able 

to tie Fenrir up while Arthur beamed with pride. 
 

 

6. Why did Thor wait until the other beasts were defeated 

before tying up Fenrir? 

7. Why did Thor tie up Fenrir and not Arthur? 



Challenge 

“I think that Arthur is a coward.” 

Do you agree or disagree? Find three pieces of evidence  

that support your answer. 
 

 

 


